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A _EHT 609 651 740 1,391
=EHRT 63 88 95 183
A & I5HT 15 27 26 53
_{Z BRHET 13 24 25 49
JI| & 3 T 1,255 1,087 1,141 2,228
{ENZ FPET 36 46 47 93
T {Z B HT 27 39 42 81
Al 2z R ET 641 477 595 1,072
FEAHT 45 51 55 106
H ZRET 909 782 960 1,742
FH BT 756 953 818 1,771
FHR TR 747 755 757 1,512
EJRHET 35 44 48 92
= FHHT 753 450 708 1,158
= HHET 706 752 216 968
e ¥ansl 27 34 50 84
7o B HT 79 76 80 156
Al P BT 564 469 543 1,012
%) HHET 785 875 821 1,696
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57 B =HT 289 272 287 559
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= A HT 120 186 200 386
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= R BT 15 21 24 45
2 RHET 74 120 111 231
H L BT 183 271 268 539
7k JR BT 271 355 339 694
FARHET 352 487 505 992
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EERT 171 230 240 470
2R EHT 62 83 81 164
PR ARET 1,092 1,400 1415 2,815
=21 96 150 168 318
FaEAT 369 431 464 895
HEZEHT 130 146 145 291
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L {RmT 25 26 33 59
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/N R ET 39 32 53 85
FEHNET 1,019 1,194 1,162 2,356
/NERHET 244 344 377 721
2N 613 672 728 1,400
A 1,098 1,273 1,348 2,621
H 3 EHT 1,440 1,519 1,364 2,883
=) 836 1,096 1,085 2,181
aadil 592 787 798 1,585
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—EErEHE 79 132 120 252
e a0 355 552 538 1,090
HHFEH 587 777 762 1,539
{ERITET 95 130 129 259
EZEHET 569 765 848 1,613
B/ EEHT 160 232 259 491
& HAT 35 46 63 109
HE IR T 2,264 2,531 2,638 5,169
B2 FERT 232 297 310 607
2z EHT 165 105 179 284
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B ENHET 83 122 119 241
S HT 40 58 57 115
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